Name

Lesson 7 Enrich
Add Three-Digit Numbers

Date

Jean, Pedro, and Betsy belong to a stamp collecting club. Club

members must have at least 225 stamps to join. Jerrad is thinking
about joining and is waiting for an order of new stamps to arrive.
The chart shows how many stamps each club member has.

1. Find the total number of stamps
for the three members. First, add
Jean’s and Pedro’s. Then add their
total to Betsy’'s. How many stamps
do the current members have all
together?

Stamp Stamps
Collector | Collected
Jean 352
Pedro 496
Betsy 247
Jerrad

Show how you would add using regrouping.

2. Betsy ordered 159 more stamps. After her order arrives, will
she have more or fewer stamps than Jean?

3. Jerrad currently has 136 more stamps than Pedro. Write a
number sentence that shows how many stamps Jerrad

has now.

Which column(s) needed regrouping to solve the problem?
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Grade 3 - Chapter 2 Addition

*9SN WO0ISSe)d 10§ 9Inpoidas 0] pajuels S| uoISSIWIAd “du| ‘satuedwo) |IH-me19dW 3yl @ WSuAdo)y



